Year 1 Maths Activity Mat ®

N
Section 1 Section 2 Section 5 Section 6
There are 20 biscuits in a packet. Match the numbers with their names: Draw the coins you need to make 14p. Choose the correct
Grace eats 5. . symbol to complete the
12 sixteen number sentence.
Sara eats 6. - X +
15 ight
How many are left in the packet? &g
2 5 = 7
8 twelve
W SLiDED ?’
Digestl ‘ 16 fifteen 8 4 = 4
. _J
& a )
Section 3 Section 4 § . | Section 8
Which would weigh more? Circle the Section 7 It’s Mickey’s birthday

heaviest. Draw a picture to show this: tomorrow. Today is

1+9=10 Saturday. What day is
Mickey’s birthday?

20 = 10 less |—

50 —| 10 less |—

80 —| 10 less |—

30 —| 10less |—
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Year 1 Maths Activity Mat: 4

Answers
- N
Section 1 Section 2 Section 5 Section 6
There are 20 biscuits in a packet. Match the numbers with their names: Draw the coins you need to make 14p. Choose the correct
Grace eats 5. . symbol to complete the
12 sixteen . . number sentence.
Sara eats b, Accept any combination of Cx o+
. coins that totals 14p.
) 15 eight
How many are left in the packet?
2 + 5 = 7
8 twelve For example:
Milk Chocotale |
rl)iqmu'vea ”)‘ q 16 fifteen 8 - 4 = 4
. _J
\ s
Section 3 Section 4 ; . | Section 8
Which would weigh more? Circle the Section 7 It’s Mickey’s birthday
heaviest. . . tomorrow. Today is
Draw a picture to show this: Y
20 = 10less | = 10 149 =F;O Saturday. What day is
Mickey’s birthday?
50 —| 10 less |[— 40 Any picture that shows the
calculation, such as:b
80 —| 10 less |[— 70 bbb b b
o pbb -y
30 = 101 — 20
ess . . . b b b Sunday
- _J "
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Year 1 Maths Activity Mat ®

Section 1 Section 2 Section 5 Section 6
There are 24 in a packet. Match the numbers with their names: Draw the coins you need to make £1.25. Choose the correct
symbol to complete the
Grace eats 5. 26 eighteen number sentence.
Sara eats 6. - x +
15 thirty-
How many are left in the packet? regone
12 15 = 27
31 twenty-six
itk Chocolae |
Digestives ”)‘ 18 fifteen 2 4 = 8
\ 7
\ (" )
Section 3 Section 4 . . | Section 8
Which would weigh more? Circle the Section 7 It’s Mickey’s birthday in

. ) :
heaviest. Draw a picture to show this: 2 days’ time. Today is

10-7=3 Saturday. What day is
Mickey’s birthday?

30 = 10 less |—

55 —| 10 less |—

83 —| 10 less |—

32 —| 10less |[—
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Year 1 Maths Activity Mat: 4

Answers
a N a Y
Section 1 Section 2 Section 5 Section 6
There are 24 in a packet. Match the numbers with their names: Draw the coins you need to make £1.25. Choose the correct
symbol to complete the
Grace eats 5. 26 eighteen number sentence.
Sara eats 6. - x +
) 15 thirty-one Accept any combination of coins
How many are left in the packet? that totals £1.25 ol v 115 = 27
31 twenty-six
itk Chocolate | For example:
Digestive® ”)‘ 13 18 fifteen 2| x |4 = 8
\ J
S > e )
Section 3 Section 4 ; . | Section 8
Which would weigh more? Circle the Section 7 It’s Mickey’s birthday in
heaviest. 30 —| 101ess |— 20 Draw a picture to show this: 2 days’ time. Today is

10-7=3 Saturday. What day is
Mickey’s birthday?

Any picture that shows the
55 —| 10 less |[—> 45 calculation, such as:

O O v
83 —| 10less |— 73 :: b _ .bb= b
0 ,% o, @

32 —| 10less |[— 22 b

Monday
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Year 1 Maths Activity Mat ®

Section 1 Section 2 Section 5 Section 6
There are 30 biscuits in a packet. Match the numbers with their names: Draw the coins you need to Choose the correct
G s make £1.70. symbol to complete the
race eats . 49 thirty-eight number sentence.
Sara eats 6. - x +
71 inety-ni
How many are left in the packet? ninetg-ine
12 5 = 60
38 seventy-one
itk Chocolae |
r[)igmtw% ”)‘ Qq forty-nine 8 4 = 4
\ 7
\ (" )
Section 3 Section 4 . . | Section 8
Which would weigh more? Circle the Section 7 It was Mickey’s birthday

heaviest. Draw a picture to show this: 4 days ago. Today is

2x7 =14 Saturday. What day was
Mickey’s birthday?

67 —| 10 less |—

33 = 10 less |—

81 —| 10 less |—

94 —| 10 less |[—
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Year 1 Maths Activity Mat: 4

Answers
a N a y
Section 1 Section 2 Section 5 Section 6
There are 30 biscuits in a packet. Match the numbers with their names: Draw the coins you need to Choose the correct
Grace eats 5 make £1.70. symbol to complete the
: 49 thirty-eight number sentence.
Sara eats 6. - x +
. 71 ninety-nine Accept any combination of coins
?
How many are left in the packet? that totals £1.70 . 5~ 60
38 seventy-one
itk Chocolate | For example:
Digestive ”)‘ 19 Q9 forty-nine P 8| - |4 = 4
\ 7
" ) 7~
Section 3 Section 4 , . | Section 8
Which would weigh more? Circle the Section 7 It was Mickey’s birthday
heaviest. . . 4 days ago. Today is
Draw a picture to show this: ys a9 Y
67 = 10less | = 57 5% 7 = F1)4 Saturday. What day was
Mickey’s birthday?
33 —| 10less |[— 23 Any picture that shows the
calculation, such as: b
81 —| 10less |—| 71 o® o » ®
® x o0 = > &
94 —| 101 — 84 . b .
e ® ® ® ® Tuesday
\ b v A
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